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2 3
smoli Sx 9 Sol + =1
Simplify fully —* F olve
21+7x+10 x+3 x+8
(2 marks) (4 marks)
2 8 6
Slmphfy fully .X; —x—12 10 Solve 3r_2 + Tt =2
X —9x+20
(2 marks) (4 marks)
impli 37 +9x 11 Sol 3
Simplify fully ﬁ olve 5_ + x+7
(2 marks) (4 marks)
7 4
12 Sol — =
Simplify fully —*2 VeI Tx—2 !
x =16
(2 marks) (4 marks)
2 — 13 Given that 2x+1 :x+2 = x+8 : 3x—4
Write 3x +1lx—4 in the form where a, b, and c are integers. tven tha o o o Y
X +3x—4 x+c Find the possible values of x.
(3 marks) (4 marks)
2 14  Given that x—1:2x-3 = x+2 :3x-2
write X *7X =18 i the form X% where a, b, and c are integers. ) )
2x =x—6 bx+c Find the possible values of x.
(3 marks) (4 marks)
- 3x+6 . 2x°+9x+10 15  Given that x+9 :5x—1 = x+7:2x-3
Simplify fully + >
- xT—4x Find the possible values of x.
(3 marks) (4 marks)
Simplify fully 2¥—=2 . X" —4x+3 16 Giventhat ~ 5-3x:9-x = 3x+7 : 4-x
x+5 2x*+ 13x+ 15 Find the possible values of x.
(3 marks) (4 marks)
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